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OSXgs 28 ZE3E 20,0003 = 104 200
HE2AZH (B HAXAL) 15,147,635 14,866,800 280,835
= 7,642
Al 15,139,993
el 2l 14,647,500 14,362,448 285,052
= 7,642
Al 14,639,858
oI 244l 12,423,764 12,145,264 278,500
101 @124l 12,423,764 12,145,264 278,500
01 2= 10,340,838 10,089, 562 251,276
oJles 7,273,656
OdsSUHAX(42) 89,160,000& » 1H 89,160
OASUHAX(53) 78,972,000& » 8H 631,776
oJlzs 6,552,720
-2 B 6,552,720
62 (265 8)
4,023,000& * 67H » 123 3,234,492
72(1652)
3,128,000& = 56 » 12&8 2,102,016
82 (75 L)
2,141,000& » 35%H » 128 899,220
9= (35 &)
1,651,000& » 16% » 128 316,992
OEa= 1,281,178
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52U
4,023,000% * 269 * 4.1% = 12& 51,463
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3,128,000& * 12 * 4.1% = 12& 18,468
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2,141,000 = 5H » 4.1% * 128 5,267
o¥24g
6,552,720,000& * 1/12 = 50% * 23l 546,060
(OF~ LS 552,084
s 175,200
- B Xt 40,0003 = 150H » 123 72,000
A EHS 20,0003 x 200 » 12&8 48,000
- S MAH 60,0003 = 60H = 123 43,200
- Aol KA
100,000& » 10% » 12&8 12,000
-AHHSHEEE 37,464
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DSeHM 468,300& * 20 * 43| 37,464
-S0FA=E 142,500
Z = 3ME 1,500,000 * 59 « 3& 22,500
4HE ol
1,000,000& * 10 * 123 120,000
-225g Ihtts 196,920
254 01 & 130,000& = 62 » 12& 96,720
208 0l &f ~ 250 ¢t
110,000& = 30 » 12& 39,600
- 15801 ~ 204 018+
80,000& = 209  12& 19,200
- 108014 ~ 15& 0] ¢t
60,000& = 209 = 12& 14,400
- 504 ~ 108 0lgr
50,000& = 459 » 12& 27,000
OS¢ 107,836
-AE2RsE 3,600
=3 50,000 = 2% = 12& 1,200
- EE 40,000& * 5% = 128 2,400
Jlsgesg 94,920
52 50,0003 = 4H » 123 2,400
6~72 30,000& = 20 = 12& 7,200
8= 0l ot 20,0003 * 20 » 12& 4,800
- MAH (3014, MO, 2L
50,000& = 9% = 128 5,400
Hd=+g 250,000& = 19¥ » 12& 3,000
QAR 50,000& * 20 = 12& 12,000
MII=EXSR 70,0003 * 22H « 123 18,480
MIEXNSER NHHS Jtitz
30,0008 * 159 * 122 5,400
S T FHYR(6-73)
50,000& = 3H » 12& 1,800
28 = HUlYR(8=0l5t)
40,000& * 3% = 128 1,440
WEMAZ 550,000 = 5F * 123 33,000
Sl E 6,340
ANZtHEH S22
132,080& * 4H » 123 6,340
-HaZ2fsg 8,000& * 93H 43 2,976
oxzu22+¢ 658,284
OANZ 2R
10,5093 = 174% = 30AI2t = 128 658,284
OFUZ A 285,480
Og et 130,000&  183%H » 12& 285,480
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el
02 JIEt A 2+ 529,332
OHREZE 354,354
OJdles 247,010
-30 0] & 4,031,900& = 298 » 12& 96,766
~2314 0] 4+~301 0| &
3,654,400& + 1H » 128 43,853
-15& 0] &~23E 0] 2t
3,259,100& = 2% » 128 78,219
-154 0] gt 2,347,600 * 1¥ » 123 28,172
OF=1 43,285
-¥asy
247,010,000 * 1/12 % 50% * 23] 20,585
NEEELE
10,5093 = 6% = 30AI2t = 128 22,700
O 16,540
-IExg 2,880
- S X 40,000% * 3¥ * 123 1,440
JIEH(HAES A AA)
20,000& = 3% = 12& 720
=M 4 60,0003 = 1H » 123 720
-E325E I3 7,680
255 0l & 130,000& = 2H = 123 3,120
2014014 ~ 2514 0]
110,000& = 28 = 12& 2,640
- 158014 ~ 20 0] et
80,000& = 2H » 123 1,920
- 5,620
- SEM 468,300 * 3 * 43| 5,620
2SN+ (=F) 30,0008 » 1 « 128 360
OZFAZ A 130,000& * 6 » 12& 9,360
Og 2 =Ftdl
247,010,000& * 1/12 = 60% » 23| 24,701
OEItE &I
247,010,000 * 86% * 1/12 = 1/30 * 11 6,491
CnEZEzRE3 464,400,300& = 1.5% 6,967
OAZHEERILINH (92 & L) 174,978
OJles 41,435,000& * 35/40 * 4Y 145,023
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OANZZRE
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ONEs=E 2,880
—bi < Xt 40,0002 * 4F * 123 1,920
“JIEHEAES A MAA)
20,0002 * 4% » 122 960
Ot &bl
145,022,500 * 84% * 86% * 1/12 = 1/210 5,821
Al2b * 140A1 2+
OLSEE (AIZHE ML IIH)
182,145,600 * 1.5% 2,733
03 RIHAZ 22+ 1,553,594 1,379,485 174,109
oJles 211,877
OJS37(L LA 2,461,840 * 1Y » 128 29,543
otz2(xeld) 1,986,590& » 3% » 128 71,518
OotZ18(& Arz2tel)
2,678,590& » 1H » 128 32,144
Oti=6(&EAt2el)
2,234,500& » 1H » 128 26,816
ouS3(™Azeal)
2,123,500& » 1H » 128 25,484
OC+35(HI M) 2,197,590& * 1€ » 123 26,372
OE= 76,648
oz2s=+¢ 145,170& = 5 » 12& 8,711
O= &l 130,000& = 8Y = 12E 12,480
O&d=+g 50,000& = 8% » 12& 4,800
ONEs=E 4,560
—bi < Xt 40,0002 * 6F * 123 2,880
“HAES 20,0003 = 3H » 123 720
ol PNE 20,000& = 1H » 128 240
-SMXH 60,0003 = 1H » 123 720
Og 2 FItdl
211,877,000& * 1/12 = 50% * 23] 17,657
Og&EIZ2sH
15,790& = 10AI2t = 8H = 12& 15,159
Oclt243 13,281
-~ 2AH(IET) 94,240 * 1% = 20 1,885
-zld(th=2) 71,2803 * 3H » 20 4,277
-HAr2el (Ct218)
101,760& * 18 » 20 2,036
~HAr2el (Ch=26) 86,4003 » 1Y = 202 1,728
~H A2 (CH33) 82,560 * 18 * 20 1,652
-HI A (Ct25) 85,120& = 1% = 20 1,703
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OL =S (HUAH, X2, HAL22])
90,000& * 6YH * 13 540
O&AZ 180,000,000 * 4Y 720,000
oO=0dZ22E2 5,159,004,900& * 4.5% 232,156
olngsEsE=ss=z2 5,159,004 ,900& * 1.5% 77,386
OdIMHEE 2 5,159,004,900& * 1.05% 54,170
OAHLEEHREHZ2 5,159,004,900& * 3.23% 166,636
OMIALEHEEEH2
5,159,004,900& * 3.23% * 8.51% 14,181
QIAHI (IS ZHHSEAR) 7,642 4,072 3,570
= 7,642
101 2121 4| 7,642 4,072 3,570
= 7,642
01 2 7,642 4,072 3,570
OIIIEZAHSEAR 21AHY| 7,642,000 7,642
= 7,642
Pals] 375,330 337,838 37,492
204 &R = F H| 375,330 337,838 37,492
02 &= & xH| 375,330 337,838 37,492
043 JI2H 400,000& = 14 = 12& 4,800
o532 250,000& = 8Y 128 24,000
o632 165,000& * 679 12& 132,660
o732 155,000& * 56 128 104,160
08z ~ 9= 145,000& * 519 128 88,740
OHIAHE(Z AL 155,000& = 8Y 128 14,880
OAZHHEH LI M (9B A L)
145,000& = 35A12H/40A12t * 4™ 128 6,090
AOI & 1,840,764 1,875,274 34,510
303 A2 1,171,704 1,155,271 16,433
02 A= 1,171,704 1,155,271 16,433
(@RI EN 1,140,455
o=3 606, 138,000& 110% 666,752
O84S 430,639,000 110% 473,703
OFAZE 28,408,000& 110% 31,249
304 A= RE2S 669,060 720,003 A50,943
02 20AHALEE= 669,060 720,003 AN 50,943
O=0AHAEBEH 22 616,587
[OFFrES 18,442,803,750& = 3.23% 595,703
OJIEtH 646,545,900& * 3.23% 20,884
OINQLABE 2= 52,473
O&8AH 18,442,803,750& * 3.23% * 8.51% 50,695
OJIEHE 646,545,900& * 3.23% * 8.51% 1,778
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- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
JlE&dl 500, 135 504,352 N4 217
Jl2&Hl 500, 135 504,352 N4, 217
201 et d| 195,096 199,572 N4 476
01 AP 2t 2| bl 186,900 187,222 N 322
OJl2gLsaAd| 500,000& * 26¥H * 95% 12,350
©J|I=dHl (S&dl)
8,0008 * 30Y¥Y x 8L * 128 * 95% 21,888
O&F NMES(HEA HANE2, U0, 045
Al) 0,0008 * 40 * 63 * 95% 1,140
ogna 29|
100,000 * 1A » 128 % 95% 1,140
OHl&a2%*ZE 2! 466
Odlatrg < 100,000& = 404 = 95% 380
ooolz=& et 30,000 * 30 A * 95% 86
O&XLD| HIIEH YL ZHWE
50,000 * 6O A + 12€ 3,600
OZJ|&H)| HII&8E ¥ ZHWsEt
42 000 * 404 = 128 2,016
oY, =5 ¢ 144,300
O=x=2 60,000 * 5H x 366Y 109,800
oA 60,000& = 5¥ x 115 34,500
02 24| 8,196 12,350 N4, 154
oRHER2 8,196
oYt 350 * 1,460 » 128 6,132
o=yl 2,150& ~ 808 » 128 2,064
202 04| 30,644 39,936 N9,292
01 2Ll 30,644 39,936 N9,292
OJ|E=Z |
20,000 = 218 * 8L * 128 * 80% * 95% 30,644
203 Q2 =AY 41,560 40,930 630
BRI ST 26,400 26,400 0
OJ|l=(LBr3) 26,400,000 26,400
02 BRI 2 =X H]| 9,880 9,430 450
OJ|&=Z& | 9,880
O1004 0] 6F 40,000 = 100 4,000
O100"™ = 1+ 30,000& * 196¥H 5,880
04 EASHEIRFAH| 5,280 5,100 180
OJ|l=H 5,280
O3092!10| a5t 400,000& = 12&€ 4,800
03001 =1t 5,000 ~ 8™ * 12& 480
204 224 A H| 153,600 153,000 600
01 M ZHR2 LAY 14,400 14,400 0
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SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
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Ob38 ExJ|& 100,000& » 89 = 12& 9,600
03 SEYREHI 139,200 138,600 600
Ol EsH(BEE=) 110,400
O63 0I5t 50,000& = 1744 * 12& 104,400
OB & 50,0008 * 6 x 12& 3,600
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50,000 * 4% x 12& 2,400
oMY (Hege)
100,000& * 24 = 12& 28,800
307 212t0| & 79,235 70,914 8,321
07 d=X=2=2 79,235 70,914 8,321
CEEE W 79,235
Ol 24 5,300,000& * 3.981 * 13 20,670
OANEZRAS2(BRE IIE)
3,445,000& * 179H 58,565
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= 69,733
Al 644,897
ST FSS FE UIAHLE FE 92,396 85,049 7,347
= 69,733
Al 22,663
AlBIotE DIRA#F A A FE 22,663 17,142 5,521
HEE A 2 8,894 3,776 5,118
201 L Et2E | 4,394 3,776 618
01 At 2t2l ] 3,674 596 3,078
oulEs S3EH| 567
Og2X 11,000& = 38 » 128 » 95% 377
Ostz 100,000& = 28 = 95% 190
ORFEA =D &X=
45,0003 = 300 128 * 95% 1,539
OREA ZBIIEEI Iz
40,0003 = 200 * 128 * 95% 912
O2stXHE D =Xl 656
OdE = A0l0lEH]
50,000& = 108 * 128 * 95% 570
OF=g=-DN| 30,0003 = 3JH = 95% 86
02 3324l 720 3,180 A 2,460
oYt d|l Xl 3,000,000& * 4CH * 6% 720
405 TtobH S| 4,500 0 4,500
01 AL ESFH SH 4,500 0 4,500
O 28 KHE | 3,500,000 = 1CH 3,500
OsliE sde 1,000,000& « 1CH 1,000
DAHEE AKX 13,769 13,366 403
201 L Er2 A | 13,169 12,766 403
01 AL 22l H| 12,001 11,838 163
OUAHE PREX 9,134
O=AMEX 21,0008 * 102HA = 122 = 95% 2,394
oczeg=EgR 80,0003 = 52FA * 95% 380
OxUSESEz=2ENX
28,0003 = 82FA * 95% 213
OIS SEA
90,0003 = 12fA = 95% 86
OZgHd & 220,000& = 404 * 43 = 95% 3,344
O=MII EH  260,000& * 2CH = 43| * 95% 1,976
oA &l 70,000 = 20H * 43 * 95% 532
OesJl g 22,000& = 100H = 95% 209
oRoALZI| 1,164




SH HAT AT
M ZUY BES F= UARE 7
Sl AIRIOHE DIRBFAHA DE CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OSsAgEX 54,000& = 82t A * 95% 411
OEH 330,000& * 2J0 = 95% 627
OoEEd 132,000& * 1MIE * 95% 126
OHo M8 RopIALZI] 753
O&H 330,000& = 204 = 95% 627
OEEY 132,000& » 1MIE = 95% 126
oo} EHS HA
4003 * 2,500 * 95% 950
02 8323l 1,168 928 240
OHFZEHl RAXlHl 1,168
Oers7l 2,300,000& * 20H * 8% 368
OHXE = A 3,500,000& = 201 = 8% 560
OOl 2ACHLHAIAE 3,000,000& * 1CH * 8% 240
303 ZA& 3 600 600 0
01 L4323 600 600 0
OLlAXNelH=E2=T A& 300,000 = 23| 600
AEotD ZEE IIS2AHASE 22 69,733 67,907 1,826
= 69,733
NEZHSEMR XS AS 69,733 67,907 1,826
= 69,733
101 1A bl 61,475 59,674 1,801
= 61,475
M4 II2HZ2Z2NSES 61,475 59,674 1,801
OINFZHESYL IIUAH2ZX(ZH) 22,794
oersEy 68,720& * 2% » 150 20,616
= 20,616
OI0UHASRES 20,616,000& * 4.50% 928
= 928
OHLEBEEYES 20,616,000& = 3.23% 666
= 666
O/INLEERES 666,000& * 8.51% 57
= 57
OLNEBERYS 20,616,000& * 1.50% 310
= 310
OUNEERYES 20,616,000& * 1.05% 217
= 217
OINZFZAHEELR JI2HZ 2R (U=S) 9,424
ooy 68,7203 * 18 » 124& 8,522
= 8,522
OILUHAZRES 8,522,000& * 4.50% 384
= 384
OHLEBERE S 8,522,000& * 3.23% 276
= 276
O/INQLEERE S 276,000& = 8.51% 24
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SA - ZE-B(EA) - NRAY - B S il &t o il
= o7
OLNEBERYS 8,522,000& * 1.50% 128
= 128
OUNEERYE S 8,522,000& * 1.05% 90
= 90
ONBZHEELLR JIANZ2N(L2ES) 25,530
ooy 68,7203 * 2H » 168 23,090
= 23,090
O=H3RE3 23,090,000& * 4.50% 1,040
= 1,040
OHLEBERE S 23,090,000& * 3.23% 746
= 746
OINRYEEREZ 746,000& * 8.51% 64
= 64
OLEEE=RY=3 23,090,000& * 1.50% 347
= 347
OMTHESERES 23,090,000& * 1.05% 243
= 243
ONEBZHE=ELLR JIAMZE2X(S0IH) 3,727
ooy 68,7203 * 1H » 49 3,368
= 3,368
O=H3IRES3 3,368,000& * 4.50% 152
= 152
OHLEERYE S 3,368,000& * 3.23% 109
= 109
OINQYEERLEZ 109,000& * 8.51% 10
= 10
OLNEEd=2RY3 3,368,000& * 1.50% 51
= 51
OMTHEERE S 3,505,000& * 1.05% 37
= 37
201 LBt H Y| 8,258 8,233 25
= 8,258
01 At 22l 8,258 8,233 25
oA 2] 8,258
O&EH #¢ 220,000& = 2004 4,400
= 4,400
O=MEX +¢ 21,0003 » 502 A 1,050
= 1,050
ONEHAHASELD HA [0

10,000& = 100& 1,000
= 1,000

ONEZHHSEAND FSXHA4UE M
300& = 5,0000H 1,500
= 1,500
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OEN S N=282 29 (H*s) 12,0008 12
2 2
OEX S M2SE 2Y(2FS) 70,0002 70
2 70
OEX S MRSE 2Y(=S0/8!) 70,0008 70
2 70
Hats DEY NRAHA HB 552,769 785,426 £232,657
THS ENEIIY RSHATO SYY 82,798 81,641 1,157
Hes HEZAIXOL EA 78,181 77,281 900
101 @121l 22,794 22,127 667
VS EESETPS 22,794 22,127 667
OMEBAXI ISR JIAH2R2T olee 20,616
oosy 68,7202 * 3% * 1002 20,616
o4EE 23 2,178
SENI-E 20,616,0002! * 4.50% 928
oAU 20,616,0002! * 3.23% 666
OFIeYRH 666,000 * 8.51% 57
onges 20,616,0002! * 1.50% 310
OuTE 20,616,000 * 1.05% 217
201 2Ler2 bl 55,387 55, 154 233
01 At 2teltl 39,287 41,354 A2,067
OXIEAER 55,0008 * 304 Xt * 95% 1,568
OMETANI} SRENS M 6,118
ol1g1g JIE
1402 * 45,0002 * 18 * 95% 5,985
O7212 JIE 1408 * 1,00021 = 13| * 95% 133
OMEZAIXIOL XIOHE SEBCO XA 24,225
olg1g JIE
17,0002 = 4000H * 23 * 95% 12,920
o7g1Y JIE
17,0002 * 35000 * 23| * 95% 11,305
OMEBAIXOL 22 &40 2 Q24w 2,645
SEP 70,0008 * 9 * 43 * 95% 2,394
OLIEE:! 33,0002 * 200 * 43 * 95% 251
OZANEHY STy
10,0002 * 300% * 95% 2,850
OFMBX HHoIC 6,0002 * 50JH * 95% 285
oZgH £ 220,0008 * 40 * 95% 836
©E 22 28 (A0) 20,0002 * 407 * 95% 760
02 232l 16,100 13,800 2,300
CEX:I-E 16,100
ol1g1g JIE 3502 * 45,00021 * 13l 15,750
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2,000& * 2& = 753 x 95% 285
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2,000& * 5& = 30& » 95% 285
Ofsd =HHN MDIMH 82 dHX HE
130& * 2,000 * 95% 247
301 LEXS 3,800 3,500 300
12 JIEHE4 3 3,800 3,500 300
O=2Y SHAIRA M Xas
500,000& * 1A 500
ORS4HcH AN Za3
14,000,000& * 20% 2,800
OEXI HeHAHASG I RABE M) Z&S
500,000& = 1A 500
datst NHFE M3 54,196 56,115 A1,919
NE=g R0 54,196 56,115 A 1,919
101 @14 Hl 11,398 11,065 333
04 DIt Z2XRHEE S 11,398 11,065 333
OXNFHZHINEZLHMEZA JIZH2 2R 12 10,308
Oy 68,7203 * 1H = 150 10,308
o4UE" RE=3 1,090
Oo=38a3 10,308,000& * 4.50% 464
(OFaR=gg= 10,308,000& * 3.23% 333
OEIQASH 333,000& * 8.51% 29
OnE:Ed 10,308,000& * 1.50% 155
OMTHEH 10,308,000& * 1.05% 109
201 et 42,798 45,050 AN2,252
01 At 22l 42,798 45,050 A2,252
ONNSZYIZEY 47 Y20 242
140,000& » 300& * 95% 39,900
OX O A2=X 2,898
OX=DI# A E A
10,000& * 58 + 20& = 95% 950
OEXNO=sZ2AAM 10,000& = 5000 = 95% 475
OXNAZ=Y A/SHEE SESAM WA
500& * 500& = 95% 238
(OPNESE=F===-IiE= 40,0003 * 2090 * 95% 760
OXNXBL 238X 7Y
25,0003 * 202 A * 95% 475
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[HTHEAL & NAHSX A HEAY 413,115 644,870 A 231,755
101 1A bl 13,678 0 13,678
M4 II2HHZ22NSES 13,678 0 13,678
OXNETHE=AMSER JIZ2tHZ22 1 2 12,370
oerEy 68,7203 * 1H = 180¢ 12,370
c4liE2d 23 1,308
O=2d3 12,370,000& * 4.50% 557
(OFaR=g-8= 12,370,000& * 3.23% 400
O¥INIEH 400,000 = 8.51% 35
OnE:d 12,370,000& * 1.50% 186
Ot NHEE 12,370,000& * 1.05% 130
201 L2l 39,437 119,870 A 80,433
01 At 22l 38,837 119,270 A 80,433
OXXMZALALY F& 27,693
OXEMEA JIEE &4
86,000& = 250& = 95% 20,425
OXNEMEAMN MSXF & &Y
300,000& * 2JHKlI =+ * 95% 570
OXNEMEAMN AMHXF Sas & =9 J
B 500,000& * 2JHKI=* * 95% 950
OXNEMEMMY 222 WH
10,000& = 37000 * 95% 3,515
OXNEMEAN MR HEE B Y
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